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QUESTION 1

An administrator adds a new virtualization host to an existing cluster but is unable to move existing VMs to the new host.
Which of the following is MOST likely to be a reason for the VM mobility failure?

A. There are too many connections to the iISCSI LUN.

B. Minimum memory configuration has not been met in the system.
C. The host has not been added to the resource pool.

D. Different CPU architectures are being used.

Correct Answer: D

QUESTION 2

A company has tasked an administrator with virtualizing the server farm and wants to adhere to the
principle of n+1. The administrator has analyzed the resource consumption of the current server farm and
observes the following:

5 application servers consuming 12 GB RAM each.

4 web servers consuming 2 GB RAM each.

10 terminal servers consuming 6 GB RAM each.

Which of the following is the MINIMUM necessary to meet the requirements of the new host cluster?
A. 1 host with 196GB RAM

B. 2 hosts with 64GB RAM each

C. 3 hosts with 128GB RAM each

D. 4 hosts with 24GB RAM each

Correct Answer: C

QUESTION 3

The Chief Information Officer (CIO) of a company would like to close one of the company\\'s four datacenters. The CIO
has asked the administrator to perform tests to determine if the servers can be migrated to a public cloud located in
another region. Which of the following tests should the administrator perform specific to the location change, to
determine if user experience will be impacted?

A. Network latency

B. CPU wait time
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C. I/O throttling
D. File read/write

Correct Answer: A

QUESTION 4

Which of the following is an example of two-factor authentication when accessing a virtual server?
A. Multiple usernames/passwords for all websites

B. Username/password, fingerprint scanner, and key fob

C. Username/password and PIN

D. Username/password and fingerprints

Correct Answer: D

QUESTION 5

A system administrator wants to create a mitigation strategy to quickly roll back a virtual image after applying the latest
updates. Which of the following would the administrator utilize?

A. File backup

B. Snapshot

C. Offline backup
D. Image backup

Correct Answer: B

QUESTION 6

Which of the following provides a company with the BEST equipment to minimize downtime in the event of catastrophic
damage to their main datacenter?

A. Warm site

B. Offsite storage
C. Hot site

D. Cold site

Correct Answer: C
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QUESTION 7

A system administrator has been tasked with increasing redundancy after a hard drive failure caused significant
productivity loss for a company. The administrator suggests creating several routes to reach the storage array. Which of
the following is the administrator suggesting to solve this issue?

A. Virtual LUN

B. Virtual NIC

C. Multipathing

D. Zoning

Correct Answer: C

QUESTION 8

Which of the following disk drive types would be the BEST for a mission critical application with low latency
requirements?

A.FC

B. SATA
C.SSD
D. SAS

Correct Answer: C

QUESTION 9

Which of the following is a file transfer protocol that would be MOST appropriate for transferring sensitive data?
A. Telnet

B. TFTP

C. HTTPS

D. SFTP

Correct Answer: D

QUESTION 10
Which of the following would be the FIRST choice to encrypt a laptop hard drive?

A.DES
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B. TDE
C. AES
D. SSL

Correct Answer: C

QUESTION 11

A security administrator is being hired to perform a penetration test of a third-party cloud provider as part of an annual
security audit. Which of the following is the FIRST step that must be performed?

A. Attempt known exploits
B. Scan for vulnerabilities
C. Research publicized incidents
D. Get written permission

Correct Answer: D

QUESTION 12

Which of the following encryption technologies would MOST likely be used to protect in-transit user data on a publicly
accessible service?

A. SSL
B. RSA
C.IPSEC
D. AES

Correct Answer: A

QUESTION 13

To avoid the same LUN showing up multiple times in client hosts, an administrator should implement:
A. Multipathing software

B. Multiple HBAs

C. Multiple zones

D. Multiple initiators

Correct Answer: A
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QUESTION 14

Which of the following could an administrator perform to restore confidential data housed within a VM server in case the
data becomes corrupted or overwritten?

A. Weekly image backups
B. Snapshots backups

C. Daily image backups
D. Daily file backups

Correct Answer: D

QUESTION 15

In which of the following situations would a network administrator optimize a company\\'s WAN?
A. High amounts of packet loss on a switch port

B. CPU utilization on a switch is at 95%

C. Installed new local application on a private network

D. Contracted with a SaaS provider to provide a new application

Correct Answer: D
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